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1. Abert’s squirrels and fox squirrels coexist in the Evergreen community. They are both squirrels, but the strategies they employ in their niche are quite different. Fox squirrels are known as generalists where they will forage seeds from many types of trees in this habitat. Abert’s squirrels are known as specialists, where they forage seeds from only the ponderosa pine tree. Predict how these strategies act as a limiting factor to their population sizes.
2. Note the beak sizes on the northern flicker, downy woodpecker, and hairy woodpecker. Use the competitive exclusion principle to explain why these birds can utilize the same resources without increasing interspecific competition. 

3. Exotic species are non-native, introduced species. Both the starling and the house sparrow are exotics that were accidentally introduced to the east coast in the 1800’s that now inhabit most of North America. Use three population ecology concepts to explain why they are so successful.
4. Predict the function of the comb-like projections on the leading edge of the owl wing feathers? Use its niche to help you deduce their function.
5. There are two strategies duck use in their niche. Puddlers sit on the top of the water and invert themselves to forage. Divers fly into the water and submerge themselves to forage. Observe both the Green winged teal and the mallard and predict what strategy each of them uses. Explain. 
6. Predict why the rabbit’s hind feet are larger than the front feet. 
7.  How can you use a rattle to estimate the age of a rattle snake? Estimate the age of the rattle snake assuming it shed twice a year and never lost any segments.     
8. Observe the porcupine quills in the jars. The small quills came from porcupines in California, the medium quills came from Alaska, and the large quills came from Africa. What are some types of environmental pressures could cause this variation?  
9. Observe the badger claws. Badgers are secondary consumers whose diet consists mainly of earthworms (they can eat up to 200 earthworms in a day). Why would this animal need such robust claws? 

10. Male big horn sheep (Rams) use their horns for long battles (up to 24 hrs) with other rams for reproductive rights of the herd. They never shed their horns and growth rings are evident as the horns spiral. A typical ram grows 2-3 “ridges” per year on their horns. Estimate the age of the ram specimen.  
